



AESS

Asian Journal of Agriculture and Rural Development

- [Home](#)
- [Journals](#)
- Asian Journal of Agriculture and Rural Development

Information Menu

- [Aim and Scope](#)
- [Editorial Board](#)
- [Instructions To Authors](#)
- [Indexed/Abstracted In](#)
- [Publication Ethics](#)
- [Peer Review Policy](#)
- [Authorship](#)
- [Current Issue](#)
- [Archives](#) [Login](#)
- [Quick Submission](#)

This title is
now indexed
in Scopus

SCOPUS

Google
Scholar

d

Crossref
Scholar
Full Text

- [Subject Area](#)
- Agricultural Geography, and Planning and Development
- Agronomy and Crop Science
- Plant Science
- Soil Science

Asian Journal of Agriculture and
Rural Development



Online ISSN: 2224-4433
Print ISSN: 2304-1455

Scopus

RePEc - EconPapers - Google Scholar

Vol 3, Issue 11, 2013

← Prev

Next →

Agricultural Income Determinants among Smallholder Farmers: Case of Northern Part of Burundi

Author(s): Alfred Nzabakenga, Luo Xiao Feng and He Yaqin

Keywords: Determinants, agriculture, small holder farmers, livelihood, Busoni district

Received: | Published:

Article Type: Research Article | Page: 780-787 | Citation: 5

Abstract | PDF

Share

AddThis Sharing Buttons

Share to Mendeley

Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to

LinkedIn

Processing and Utilization of Sorghum and Maize in Botswana: Current Status and Opportunities

Author(s): G. P. Nthoiwa, T. Gombalume and K. K. Mokwena Nthoiwa

Keywords: Maize, Sorghum, milling, value-added processing, food security

Received: | Published:

Article Type: Research Article | Page: 788-800 | Citation: 1

Abstract | PDF

Share

AddThis Sharing Buttons

Share to Mendeley

Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to

LinkedIn

Impact of Agricultural Extension Services on Technology Adoption and Crops Yield: Empirical Evidence from Pakistan

Author(s): Akhter Ali and Dil Bahadur Rahut

Keywords: Agricultural extension, technology adoption, propensity score matching, Punjab, Pakistan

Received: | **Published:**

Article Type: Research Article | **Page:** 801-812 | **Citation:** 28

[Abstract](#) | [PDF](#)

Share

Add This Sharing Buttons

Share to Mendeley

Share to ResearchGate | Share to WhatsApp | Share to Facebook | Share to Twitter | Share to LinkedIn

Analyzing the Micro Economic Environment of Agricultural Product: Applying The

Author(s): Puttawan Khunthong, Nopasit Chakpitak and Gilles Neubert

Keywords: Farmers, Porter's diamond model, agricultural product, competitive advantage

Received: | **Published:**

Article Type: Research Article | **Page:** 813-822 | **Citation:** 4

[Abstract](#) | [PDF](#)

Share

Add This Sharing Buttons

Share to Mendeley

Share to ResearchGate | Share to WhatsApp | Share to Facebook | Share to Twitter | Share to LinkedIn

Growth Performance Characteristics of Goats Fed Varied Levels of Poultry Manure in whole Cassava Plant Based Concentrate Diet

Author(s): Yousuf, M. B., Adeyemi A. A., Okukpe K. M., Adeyemi, K. D, A. H. A Badmus, Daramola, J. O. and Ogundun, N. J.

Keywords: Whole plant cassava, poultry manure, goats, growth performance

Received: | **Published:**

Article Type: Research Article | **Page:** 823-828 | **Citation:** 6

[Abstract](#) | [PDF](#)

Share

Add This Sharing Buttons

Share to Mendeley

Share to ResearchGate | Share to WhatsApp | Share to Facebook | Share to Twitter | Share to LinkedIn

Contributions of ICTs towards Agricultural Development Among Agricultural Researchers in Ibadan North West Local Government, Oyo State, Nigeria

Author(s): Oyetoro John Oyewole, Adetunbi Saheed Ige and Oladipo Solomon Oyetunde

Keywords: Contributions, ICT, agriculture, researchers, development

Received: | **Published:**

Article Type: Research Article | **Page:** 829-835 | **Citation:** 1

[Abstract](#) | [PDF](#)

Share

Add This Sharing Buttons

Share to Mendeley

Share to ResearchGate | Share to WhatsApp | Share to Facebook | Share to Twitter | Share to LinkedIn

Sea Cucumber Fishery and Trade in Sta. Cruz, Davao Del Sur, Philippines: Supply Chains and Cost-Benefit Analyses

Author(s): Vlademir A. Shuck, Rod Norbert D. Mondoyo, Thaddeus R. Acuña and Ruth U. Gamboa

Keywords: Cost-benefit analysis; net margin analysis, value chain analysis, sea cucumber; sea ranching

Received: | Published:

Article Type: Research Article | Page: 836-850 | Citation: 0

[Abstract](#) | [PDF](#)

Share

AddThis Sharing Buttons

Share to Mendeley

Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to LinkedIn

An Assessment of the Nutritional Status of under Five Children in Four Districts in the Central Region of Ghana

Author(s): Ayensu Eunice and Darkwa Sarah

Keywords: Malnutrition, nutritional status, predictive factors, nutrition assessment

Received: | Published:

Article Type: Research Article | Page: 851-860 | Citation: 8

[Abstract](#) | [PDF](#)

Share

AddThis Sharing Buttons

Share to Mendeley

Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to LinkedIn

Consultation Based Inductive Study of Vegetables Growing Women Farmers of Punjab, Pakistan

Author(s): Tahir Munir Butt, Gao Qi jie, Han Zhenguo and Muhammad Ammad Khan

Keywords: Agricultural extension services, vegetables, rural women

Received: | Published:

Article Type: Research Article | Page: 861-869 | Citation: 0

[Abstract](#) | [PDF](#)

Share

AddThis Sharing Buttons

Share to Mendeley

Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to LinkedIn

Investigating Social Capital Levels Among Small Holder Maize Farmers in the Kwahu North District, Ghana

Author(s): Enoch Kwame Tham-Agyekum and Fred Nimoh

Keywords: Social capital, small-holder maize farmers, information flow, Kwahu North, Ghana

Received: | Published:

Article Type: Research Article | Page: 870-884 | Citation: 1

[Abstract](#) | [PDF](#)

Share

AddThis Sharing Buttons
Share to Mendeley
Share to ResearchGateShare to WhatsAppShare to FacebookShare to TwitterShare to
LinkedIn

Important Links

- [Publication Ethics](#)
- [Plagiarism Policies](#)
- [Peer Review Policy](#)
- [Editorial Policy](#)

NewsLetter

Subscribe to our newsletter to receive news, updates, free stuff and new releases by email.
We don't do spam..

Copyright © 2016 Asian Economic and Social Society

- [Home](#)
- [Authors](#)
- [How to Pay](#)
- [Journals](#)
- [Contact](#)



Growth Performance Characteristics of Goats Fed Varied Levels of Poultry Manure in whole Cassava Plant Based Concentrate Diet

Yousuf, M. B., Adeloje A. A., Okukpe K. M., Adeyemi, K. D and A. H. A Badmus
Department of Animal Production, University of Ilorin, Ilorin, Nigeria

Daramola, J. O.

College of Animal Production, University of Agriculture, Abeokuta, Nigeria

Ogundun, N. J.

Forestry Research Institute of Nigeria, FRIN P. M. B. 5054 Ibadan, Nigeria

Abstract

A 56-day feed intake, growth and digestibility trial was carried out to investigate the use of poultry manure as a fermentable nitrogen source in whole cassava plant-based concentrate fed to goats on basal *Panicum maximum* hay (9.18 % CP). Sixteen adult (2 years old; 12.48 – 16.72 kg initial body weights) West African Dwarf goats were blocked on the basis of body weights into four similar groups that were assigned randomly to four treatments. Treatments consisted of dried poultry manure that was included in a cassava-based concentrate at 0, 14, 18 or 22 % level. Average feed intake ($g/W^{0.725}$ kg) was reduced ($p < 0.05$) in goats fed poultry manure at 22 % inclusion level when compared with the other dietary groups. Effects of poultry manure treatments on digestibility of dry matter or crude protein, nitrogen retention and body weight gain were significant ($p < 0.05$). It was concluded that poultry manure could be used to complement cassava leaf meal in cassava plant-based concentrates for the goats. The use of poultry manure as a source of fermentable nitrogen would promote activities of rumen microbial populations for efficient fermentation and reduce the constraints associated with collection and processing of cassava leaf in sufficient quantity for inclusion in the diet.

Keywords: Whole plant cassava, poultry manure, goats, growth performance

Introduction

The practice of agriculture the world over, is presently in favor of mixed farming systems by which various aspects of livestock production are integrated with cultivation of arable crops for efficient utilization of resources and improved profitability. Cassava is undoubtedly one of the most popular arable crops in Nigeria and in several other African, Asian and Caribbean nations; it is the second most important calorie source, after maize (Nweke *et al.*, 1997) in the regions. Cassava production

has grown rapidly in Africa to around 50 percent of global production by the mid-2000s, with Nigeria surpassing Brazil as the world's largest producer (FARA, 2012). Current estimates of cassava production are around 34 million tons per annum (Markelova *et al.*, 2009) with opportunities for processing into different staple foods, industrial products and livestock feed. The opportunities are not being effectively utilized in Nigeria leading to frequent glut periods in the cassava market. Akpan *et al.* (2012) reported that cassava farmers' economic efficiency in the south-east Nigeria could be raised by about 38 % using appropriate strategies.

Increased domestic utilization of cassava would be a viable option to improve the economic

Corresponding author's details:
Name: Yousuf, M. B
Email address: mb_yousuf@yahoo.com

efficiency as Achoja *et al.* (2012) had noted that an export-led cassava production in Nigeria is capital intensive.

Productive feeds for the ruminant livestock could be prepared with the various components of cassava plant including the tuber as a non-structural carbohydrates and fermentable energy source (FAO, 2005); the stalk for the supply of dietary fiber and the leaves as a source of rumen by-pass protein (Sath *et al.*, 2008). Dried poultry manure would provide fermentable nitrogen required for optimum utilization of the readily fermentable carbohydrates of the cassava tuber in the concentrate diet.

The aim of the present study was to test the hypothesis that dried poultry manure would improve the feeding value of whole cassava plant based diet fed to the goat. Several previous studies had assessed the feeding values of cassava peelings (Ukanwoko and Ibeawuchi, 2009), cassava tuber (Chanjula *et al.*, 2007) or cassava stem (Thanh *et al.*, 2012) separately for goats production. Abad-ur-Rahman *et al.* (2012) had emphasized the unique roles of goat in the social-economic and religious life of man.

Materials and methods

Location of the Study

The feeding trial was conducted from the months of April-July, at University Teaching and Research farm located (14° N 11° E) in sub humid tropical environment with an annual rainfall range of 1500-1700 mm and average maximum and minimum temperature readings of 18°C and 25°C respectively.

Processing cassava for inclusion in the concentrate diet

Cassava tubers (unpeeled) and stalks obtained from TMS 30572 cassava variety were washed under running tap water, sliced into pieces (5-10 mm) and sundried for 5 days on polythene sheet. Cassava leaves also harvested from TMS 30572 cassava plants were dried under the shade, at room conditions (25-32°C). Dried cassava tuber and stalks were milled separately to pass through 5 mm sieve for inclusion in the concentrate diet. The cassava leaf meal was pulverized by hands to be included in the diet composition.

Animals and treatments

Sixteen adult male West African Dwarf goats weighing between 12.48 and 16.72 kg initially were divided into four groups, balanced for body weights. Goats were assigned to four dietary groups in a randomized complete block design. Goats in each group received a concentrate diet (Table 1) containing 0, 14, 18 or 22 % dried poultry manure. The concentrate diet was fed at 2 % equivalent of the goat body weight in two equal rations (0800 and 1600 hours) daily as supplement to basal *Panicum maximum* hay (9.18 % CP). Goats were housed individually in concrete floored pens (1 × 1.5 m²) during the first 49 days and thereafter transferred into metabolic pens equipped with facilities for individual animal separate feeding, provision of water and collection of faeces and urine over the last seven days. The goats were treated against external and internal parasites before the commencement of the feeding trial.

Collection of samples and analyses

Average daily feed intake for the individual goat was measured as the difference between the amounts of feed offered and the amounts refused over 24hour during the 7-day collection period. Body weight measurements were recorded prior to early morning feeding on the first day of the 56-day feeding trial and subsequently at 14-day intervals. The difference between two consecutive measurements was used to estimate body weight gain over the interval period. Total faeces voided by each goat were collected during the 7-day digestibility period and about 10 % preserved for chemical analyses.

Urine was collected into plastic bucket acidified with 100 ml of N HCl and about 10 % of the daily urine production composited for each goat. Samples of feeds and orts were composited every two weeks, oven dried (60°C) to constant weights and allowed to air-equilibrate before being ground to pass through 1-mm sieve.

About 10 % of the ground feed and orts samples were preserved for later dry matter and proximate analyses. Preserved feed and faeces subsamples were analyzed for dry Kjeldahl nitrogen, crude fiber, ether extracts and total ash (AOAC, 1990). Percentage nitrogen in the urine subsamples was measured (AOAC, 1990). Wet faecal samples were used for the determination

of dry matter digestibility. Empirical data were subjected to analysis of variance of a randomized complete block designed experiment (Steel and Torrie, 1980) with treatment means separated (Duncan 1955) where there were significant differences.

Results

The poultry manure which contained 89.35 % DM and 26.17 % CP was used to replace cassava leaf (90.52 % DM; 24.28 % CP) as the main nitrogen source in the cassava based concentrate diets. Proximate studies on the concentrate diets indicated crude protein and crude fiber ranges of 12.76-13.82 % and 9.86-10.14 % respectively.

Table1: Compositions of experimental feeds

Ingredient/ Manure, %	0	14	18	22
Cassava Tuber	48	46	46	44
Cassava Stalk	22	22	20	20
Cassava Leaf	28	16	14	12
Poultry Manure	-	14	18	22
Salt + Bone Meal (1:1)	2	2	2	2
Dry matter and proximate composition, %				
Dry Matter	93.42	93.88	92.74	93.16
Crude Protein	12.76	13.08	13.37	13.82
Crude Fiber	9.86	10.14	9.98	10.12
Ether Extract	3.68	3.15	3.07	2.93
Ash	8.15	8.02	7.97	7.64
Nitrogen Free Extract	12.09	13.11	13.18	13.21

A decrease ($p < 0.05$) in dry matter intake over the 56-day feeding period was recorded for goats fed concentrate supplement that contained poultry manure at 22 % inclusion level when compared with the control group. Average total dry matter intakes (g/W^{0.75} kg) were 53.56, 56.43, 49.74 and 46.88 for goats fed poultry manure at 0, 12, 14 and 18 % inclusion levels respectively. Body weight gain (g/day) was similar ($p > 0.05$) for goats on the control diet and those fed poultry manure at 14 or 18 % inclusion level but reduced ($p < 0.05$) at 22 % poultry manure treatment. Goats fed 22 % poultry manure were less efficient in the

conversion of feed for body weight gain than the control group or those that received poultry manure at 14 or 18 % dietary level. Digestibility of dry matter (%) at 75.38 obtained for goats on 22 % poultry manure treatment was lower ($p < 0.05$) than the values of 88.26 for the control group or 86.84 and 88.84 for goats fed poultry manure at 18 or 22 % inclusion levels respectively. Crude protein digestibility was reduced ($p < 0.05$) by the effects of poultry manure treatment at 22 % inclusion level when compared with the other treatment levels or the control.

Table 2: Performance characteristics of goats fed poultry manure in cassava based diet

Item/poultry manure, %	0	14	18	22	± SEM
Number of Goats	4	4	4	4	
Mean Initial Live weight, kg	14.36	13.96	14.12	14.04	1.32
Mean Final Live Weight, kg	17.27	16.68	16.88	15.92	1.61
Live Weight Gain, /head/day	51.24a	48.57a	49.28a	33.57b	6.08
Dry Matter Intake, g/head/day					
<i>Panicum maximum</i> hay	160.12	164.39	159.69	157.91	12.18
Cassava-based Concentrate	264.64	272.36	228.73	198.81	16.73
Total	424.76a	436.75a	388.42b	356.72b	12.46
Dry Matter Intake g/W ^{0.75} kg	53.56a	56.43a	49.74a	46.88b	8.68
Efficiency of Feed Conversion,	8.29b	9.01b	7.88b	10.63a	1.03

F/G

	Dry matter/nutrient digestibility				
Dry matter	88.26a	86.94a	88.84a	75.38b	3.46
Crude Protein	71.84 ^a	69.32 ^a	68.27 ^a	65.77 ^b	2.12
Crude Fiber	57.24	57.94	59.18	58.96	1.32
Ether Extract	61.17	63.98	61.34	60.32	4.81
Nitrogen Free Extract	71.57	74.83	72.26	72.66	3.64
	Nitrogen metabolism				
Nitrogen Intake, g/day	7.78 ^{ab}	9.47 ^a	6.91 ^b	6.71 ^b	2.87
Faecal Nitrogen, g/day	3.09 ^{ab}	4.23 ^a	2.87 ^b	2.95 ^b	1.06
Urinary Nitrogen, g/day	2.43	3.07	2.06	2.28	1.92
Nitrogen Digested, g/day	4.69 ^a	5.24 ^a	4.04 ^a	3.76 ^b	1.18
Nitrogen Digested, % Intake	60.28	55.33	58.47	56.04	4.28
Nitrogen Retained, g/day	2.26 ^a	2.17 ^a	1.98 ^{ab}	1.48 ^b	0.62
Nitrogen Retained, % Intake	29.05 ^a	22.91 ^b	28.65 ^a	22.06 ^b	4.46

A, b, c, d –Different superscripts in a row represent significant differences between dietary groups at the probability of $p < 0.05$.

SEM – Standard error of treatment means

Effects of poultry manure treatments on digestibility of crude fiber, ether extract of nitrogen free extract were not significant ($p > 0.05$). Urinary nitrogen excretion was similar ($p > 0.05$) in the four dietary groups. Goats fed poultry manure at 22 % inclusion level had reduced ($p < 0.05$) nitrogen retention when compared with those on 14 % poultry manure treatment or the control group. Retention of nitrogen expressed as percentage of nitrogen intake was reduced ($p < 0.05$) at the 22 % inclusion level for poultry manure in the concentrate supplement.

Discussion

Air-drying cassava was to minimize loss of nutrients and preserve the texture of the cassava feed products. Ajala *et al.* (2012) had recommended drying cassava at low temperature to reduce color change. Preparation of cassava leaf meal is a major limiting factor in the formulation of whole plant cassava concentrate because of the low dry matter content of the leaf. Cassava tuber, stalk and leaf meal in the concentrate supplement were the main sources of energy, fiber and protein respectively. FAO (2005) identified cassava tuber and leaf meal as potent sources of fermentable carbohydrates and fermentable protein that could promote the activities of the rumen microbes. Crude fiber levels of the concentrate diets were considered low for efficient rumen functioning hence, the

provision of *Panicum maximum* hay (9.18 % CP) *ad libitum* to compensate for inadequacy in fiber intake. The values for dry matter intake ($\text{g/BW}^{0.75}$) obtained in the present study were within the ranges of values reported (Alikwe *et al.* 2011) for West African Dwarf goats of similar metabolic body weights fed dry poultry waste-based concentrate as supplements to *Cynodon nlemfuensis*. Reduction in feed dry matter intake in goats fed poultry manure at 22 % inclusion level could be attributed to a reduction in feed palatability as observed by MacDonald *et al.* (2002). The similarity in crude fiber digestibility among the dietary groups in the present study suggests that poultry manure had no adverse effect on the process of rumen fermentation in the goats. Ukanwoko and Ibeawuchi (2009) reported a decrease in crude fiber digestibility with increasing dietary levels of poultry manure in goats fed poultry wastes-cassava peels based diet. Poultry manure is rich in fermentable nitrogen that could promote rumen fermentation process to improve fiber digestibility at a moderate level of intake. Dry matter intake and digestibility are indexes of feed acceptability and quality. Lower nitrogen intake and nitrogen retention for goats fed 22 % poultry manure could be attributed to the lower dry matter intake and nitrogen digestibility obtained for the dietary group. Sarwar *et al.* (2003) observed that nitrogen retention is dependent on the intake of nitrogen and amount of fermentable carbohydrates. The retained nitrogen values for the four dietary groups

indicated that inclusion of poultry manure up to the level of 18 % in the cassava based concentrate had no adverse effect on nitrogen utilization by the goats when compared with the control group.

Conclusion

The findings from the study demonstrate that cassava plant based-concentrate with different levels of dry poultry manure is suitable for use as supplement to low quality *Panicum maximum* hay in the dry season feeding of the goat. All the animals consumed adequate feed dry matter, gained in body weight and showed no sign of intoxication. Poultry manure could therefore be safely used to replace cassava leaf meal in whole cassava plant concentrate supplements for the goat. Inclusion of poultry manure at 14 or 18 % level in the concentrate supplement promoted dry matter intake, nitrogen retention and body weight gain in the goats at levels comparable to those of the control group. The use of poultry manure would reduce labour and time required for the collection and processing of the cassava leaf.

References

- Abad-ur-Rahman S. B., Khan, J. and Ayaz, M. (2012). Goats Rearing Under Islamic Teachings and its Profitable Impact on Agricultural Economics. *Asian Journal of Agriculture and Rural Development*, 2(2): 235-237.
- Achoja, F. O., Idoge, D. E., Ukwuaba. S. I. and Esowhede, A. E. (2012). Determinants of Export-Led Cassava Production Intensification among Small-Holder Farmers in Delta State, Nigeria. *Asian Journal of Agriculture and Rural Development*, 2(2): 142-148.
- Ajala, A. S., Babarinde. G. O. and Olatunde, S. J. (2012). Effect of Temperatures, Air Velocity and Flow Rate on Quality Attributes of Dried Cassava Chips. *Asian Journal of Agriculture and Rural Development*, 2(4): 527-535.
- Akpan, S. A., Patrick. I. V. and Udoka, S. J. (2012). Stochastic Profit Efficiency of Homestead based Cassava Farmers in Southern Nigeria. *Asian Journal of Agriculture and Rural Development*, 2(3): 498-505.
- Alikwe P.C. N., Faremi A.Y., Fajemisin. A. Nand A. O. Akinsoyinu, A. O. (2011). Performances and Nitrogen Utilization of West African Dwarf Goats Fed Soybean and Dried Poultry Waste-Based Concentrates as Supplements to *Cynodon nlemfuensis* Basal Diet
- AOAC. (1990). Association of Official Analytical Chemists. Official Methods of Analysis. 15th Edition Washington D. C.
- Chanjula, P., W. Ngaampongsai, Wanapat, M. (2007). Effects of replacing ground corn with cassava chip in concentrate on feed intake, nutrient utilization, rumen fermentation characteristics and microbial populations in goats. *Asian Aust. J. Animal Sci.* 20(10): 1557-1566.
- Duncan, D. B. (1955). Multiple range and multiple F-tests. *Biometrics*, 11: 1-42.
- FAO. (2005). A review of cassava in Africa with country case studies on Nigeria, Ghana, the United Republic of Tanzania, Uganda and Benin. Proceedings of the validation forum on the global cassava development strategy, Volume 5. FAO, Rome. 26-28 April 2000
- FARA (2012). Agricultural innovation in sub-Saharan Africa: experiences from multiple-stakeholder approaches. (Adekunle AA, Ellis-Jones J, Ajibefun I, Nyikal RA, Bangali S, Fatunbi O and Ange A. Eds.) pp. 75-78. Forum for Agricultural Research in Africa (FARA), 12 Anmeda Street, Roman Ridge, PMB CT 173, Accra, Ghana.
- MacDonald, P., Edwards, R. A., Greenhalgh, J. F. D. and Morgan, C. A. (2002). *Animal Nutrition*. 6th Edition. Pearson Education Ltd. Essex, USA.
- Markelova, H., Meinzen-Dick, R., Hellin, J. and Dohrn S. (2009). Collective action for smallholder market access. *Food Policy*, 34(1): 1-7.
- Nweke, F. I., Ugwu, B. O. Dixon, A. G. O. Asadu, C. L. A. and Ajobo, O. (1997). Cassava production in Nigeria: A function of farmer access to market and to improved production and processing technologies. COSCA Working Paper No. 21. Collaborative Study of Cassava in

- Africa, International Institute of Tropical Agriculture (IITA), Ibadan, Nigeria.
- Sath K., Borin, K. and Preston T. R. (2008). Effect of levels of sun-dried cassava foliage on growth performance of cattle fed rice straw. *Livestock Research for Rural Development*, Volume 20, supplement. Retrieved November 5, 2013, from <http://www.lrrd.org/lrrd20/supplement/sath2.htm>
- Sarwar, M., Ajmal Khan. M. and Mahr-un-Nisa (2003). Nitrogen retention and chemical composition of urea treated wheat straw ensiled with organic acids or fermentable carbohydrates. *Asian-Aust. J. Anim. Sci.* 16:1583-1592.
- Steel, R. G. D. and Torrie, J. H. (1980). *Principles and Procedures of Statistics—A Biometric Approach*. 2nd Ed. McGraw-Hill, New York.
- Trinh Xuan Thanh., Khuc Thi Hue, Nguyen Ngoc Anh and T. R. Preston. (2012). Nutritive value of cassava stems and use feed resource for growing goats. *Proceedings of the International Conference "Livestock-Based Farming Systems, Renewable Resources and the Environment"*, 6-9 June 2012, Dalat, Vietnam (Editors: Reg Preston and Sisomphone Southavong) <http://www.mekarn.org/workshops/dalat2012/html/thanh.grc.htm>
- Ukanwoko., A. I. and Ibeawuchi. J. A. (2009). Nutrient Intake and Digestibility of West African Dwarf Bucks Fed Poultry Waste-Cassava Peels Based Diets. *Pakistan Journal of Nutrition*, 8(9): 1461-1464.